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- Berauciaure

23,75:10 =
23,75 :100=
23,75 : 1000=

Tema : /le1eHne qeCATUYHBIX
apooeu va 10, 100, 1000...

3HATh: | YMETh:
[IpaBuiio nenenus J1enuTh eCATUYHBIE
JNECATUYHBIX ApOOei apoou ua 10, 100,

Ha 10, 100, 1000... 1000...




Bormpochl
» Kak pasienurh JeCaTHIHYIO Apo0h
- Ha 10, 100, 1000...
29;75 :10= 2,375

33,75 - 100= 0,2375

0 023,75 :1000= 0,02375

ISR




Berauciaute

¢ 15:10= 1,5
. 2,4:100= 0,024
. 575:10= 0,575
. 0,2:100 = 0,002
+ 0,12 :100 = 0,0012
. 0,12x10= 1,2

. 48:100 = 0,48
3:100= 0,03




No 1345

23D T

| neun

2 JIEHD
Bcero—252 T "
N3pacx 1 aenp — ST
N3pacx 2 jieHb - 7 OcTaTka

Ocranoch - ?




A T o 1347

Onexrpuduimposato — 16,1 kM -
Jnuna noporu - ?

O |

Ne 1343 ,1344







